A & R @ =

£ A H 21 £ 6 H 25 B 4HHI9E4S

At /P fCALETRIZ 20 2 0 1 RE=E

I 5 & 5 3#-24

I % 4 @A KRG SEIE

I = & P #CALET BILREHE A

FE i & (Brid) 3,285,360 F  As#mmiEs @i 3,042,000 M

B 16 I IR #% (B 2) 2,840,400 H  AAmmemi@Es @) 2,630,000 H

BFREE(HA) 3,110,400 M #H&a <% (Hik) 2,880,000 M
*EA A W & wHE &

JISREREE Bt 2, 880, 000 & #LirE

RPERE KRS 2,950, 000

BR&H HARH 2,950, 000

HREH FEAER 2,980, 000

HR& HERH 3,000, 000

ESRAALEEIZ1005 O8ITAE L HEE%E N L - S EAT L AT RS B HRA £
DEAHIZF DML THS.




